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SN ZEAD
HH: MUK 25 L ABSE NUIA SH(SYHS /LY - AE)
CHel: MRS EERE:E]
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES Of] AF R 'oﬂ/'\_WH Hlws2
307 QI210|H 19,000 19,000 0
02 QIAANEE 19,000 19,000 0
MXE BDAAH BE 19,000
ARl 1,000 1,000 0
202 OfH| 1,000 1,000 0
01 2UHoitl 1,000 1,000 0
AXI 22| X 2 1,000
I RI|(RE) 1,857,150 5,180 1,851,970
=2 1,854,575
Al 2,575
206 W24 5,150 5,180 A30
= 2,575
Al 2,575
01 Mzl 5,150 5,180 A30
£ R (ZHIZE2XH) 5,150
= 2,575
Al 2,575
401 AlEHIL 2] 1,852,000 0 1,852,000
= 1,852,000
01 Al&H 1,852,000 0 1,852,000
ORI (ASESAAL MPEBANS AY) 1,852,000
= 1,852,000
£ PRI (XI) 2,174,620 5,157,855 A2,983,235
= 1,753,195
Al 421,425
403 KX SHH S K20l & 2,174,620 5,157,855 ~2,983,235
= 1,753,195
Al 421,425
01 MIXSHSEX 2,174,620 5,157,855 ~2,983,235
P =eb] 2,174,620
= 1,753,195
Al 421,425
AHIOIQA BE 15,540 0 15,540
= 11,100
Al 4,440
308 XXl EHAISOI & 15,540 0 15,540
= 11,100
Al 4,440
01 HXESHBAEES 15,540 0 15,540
ST B P B 15,540
= 11,100
Al 4,440
Z(Xg) 104,650 76,335 28,315
= 80,500
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SN EENYD
Hu: MEXE 25 U M2 MHIA SH(SFHYLA/YY - aE
ol ARG X (Etel: &8
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off & Ofl At ot Hws2
206 T2l 3,000 3,000 0
01 MEZ bl 3,000 3,000 0
MHEZAIR BOA X 3,000
303 ZAZ 2,200 2,200 0
01 Za3 2,200 2,200 0
MEYUX R4/ AN (RS DRI 1,000
MEYUX R4V AN (R4 1R 700
AEYX R412 AIM(ZE 1K) 500
MESTH(RE) 591,950 201,290 390,660
= 236,780
Al 355, 170
101 Q121 28,450 18,190 10,260
= 11,380
Al 17,070
04 JIAH22RSES 28,450 18,190 10,260
MEHRHR(MEX 20 LD S) 28,450
= 11,380
Al 17,070
201 Y2 | 39,500 11,100 28,400
= 15,800
Al 23,700
01 At el 39,500 11,100 28,400
NEEOEIEEE)Y 4,000
= 1,600
Al 2,400
AU OH (R B R ) 29,250
= 11,700
Al 17,550
AT (R BZ A 2,250
= 900
Al 1,350
MEEANY SYXY £Z 200,008 20 4,000
= 1,600
Al 2,400
202 0fH| 3,000 2,000 1,000
= 1,200
Al 1,800
01 2UhotHl 3,000 2,000 1,000
AEURHR(SHESH) 3,000
= 1,200
Al 1,800
401 AIEHIL LT 509,000 170,000 339,000
= 203,600
Al 305,400
01 Al 509,000 170,000 339,000




S EEAYD
H: MY 25 U MR35 AHIA SH(SEHSSA/LY - AE)
Sl AHE THOH &K (&9 ®M
- I MEo
SA B EA(B) - HRAY - BHES 01l & il b o HlRE2
SOIZtAIGtNIRH KXIE4  5,000,0002 30 2 15,000
= 6,000
Al 9,000
N CIENEIED 160,000, 000%37H 2 480,000
= 192,000
Al 288,000
LEDAZ EH(2 QI &D|0]) 14,000,000 * 174 A 14,000
2 5,600
Al 8,400
405 XAtz S| 12,000 0 12,000
= 4,800
Al 7,200
01 AL SEFSH] 12,000 0 12,000
2| 800,000 *15CH 12,000
2 4,800
Al 7,200
SRR (X)) 733,401 729,642 3,759
= 505,794
Al 227,607
308 XHXIEHH SO0l A 490,564 511,000 A20,436
= 338,320
Al 152,244
01 MXSHBLNEES 490,564 511,000 A20,436
AFE X O 2 490,564
2 338,320
Al 152,244
403 XX SHHSKHE0IA 242,837 218,642 24,195
= 167,474
Al 75,363
01 XXM =R E 242,837 218,642 24,195
AMZ X O 2 242,837
=2 167,474
Al 75,363
UTAIE(XIR) 690,850 207,313 483,537
= 636,308
Al 54,542
308 XHXIEHHISOIE 935 0 935
= 860
Al 75
01 IXSHHBNEES 935 0 935
AT Wi +Y 935
= 860
Al 75
403 XiXISHHIS K20l 689,915 207,313 482,602
= 635,448
Al 54,467




SN FEAYD
HE: MYUNE 25 U AP MUIA S (SYHSSL/YY - 4E
el ARTHOHE X (25l &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0l & il i~ o Hnz2
01 MXSHRZ2E 689,915 207,313 482,602
SIE=INP~ 689,915
= 635,448
Al 54,467
AP ARES ,000,499 418,891 581,608
= 836,518
Al 113,981
403 XS HSKZ0I ,000,499 418,891 581,608
= 836,518
Al 113,981
01 MXSHRZ2E ,000,499 418,891 581,608
AFEEAHES ,000,499
= 836,518
Al 113,981
M EHS LA 42,592 42,760 A 168
201 B3| 2,592 2,760 A 168
01 At 2,502 2,760 A168
NYEHELH AISZHB S 2Y 1,500
NUEHSLH 4B 2Y ST
7,000 *13% * 122 1,092
206 T2l 40,000 40,000 0
01 HEH| 40,000 40,000 0
AUS MSHANL ABAL 40,000
NEELTEEYIEE) 731,498 708,599 22,899
= 605,290
Al 126,208
101 2124l 161,519 173,868 ~12,349
= 97,682
Al 63,837
04 JIAH2EZXES4 161,519 73,868 ~12,349
AUS HUEY ZAIA BER 84,611
= 59,228
Al 25,383
IR oIl 76,908
= 38, 454
Al 38,454
201 Yer2 gyl 69,318 39,000 30,318
= 51,099
Al 18,219
01 A2l 69,318 39,000 30,318
NYYHE 222 2 IHS 7Y 15,000
=2 13,905
Al 1,09
SYHHSYR o 1= 3,500
= 3,245
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SN FEAYD
HE: MYUNE 25 U MRS NUIA HH(STHSSA/YY - AE)
Sl ARITHG

CHE T ol & Al (el &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
01 AIXESMINEBEZ 5,727,939 4,960,384 767,555
AEIYHA S 2 5,727,939
= 4,878,874
Al 849,065
403 AXIEMSA201H 56, 109 81,724 N25,615
= 43,175
Al 12,934
01 AIXISHHMAZSEE 56, 109 81,724 N25,615
MSHHS 2H 56, 109
= 43,175
Al 12,934
ASIAHIAEZO0FX (2 E) 25,755 0 25,755
= 25,755
301 2EtEAZ 25,755 0 25,755
= 25,755
09 BUIRRIBA= 25,755 0 25,755
AFSI A HIA S0 2 A | 25,755
= 25,755
AMSIMHIAZO0EAIA 277,245 376,000 A98,755
= 277,245
308 XXX SO0I& 277,245 376,000 AN98,755
= 277,245
01 AXSMMIMNEEZS 277,245 376,000 AN98,755
AFSI A HIA S0 2 A H| 277,245
= 277,245
SESHQ0 AME e L AMEESAF TM 24,192,297 17,437,331 6,754,966
AUXE 1 SAsE ZHd2t=2 S
GSoHEE SEX 32 A
SUXNE 2 20 =23 24 S83E
golds SEX 10 %
= 1,617,925
= 8,400,000
Al 8,174,372
Xl 6,000,000
SURSISX(SAMZHEIAY) 916,000 1,001,500 /85,500
203 PR =&l 1,000 1,500 A 500
03 ABFAHR =AY 1,000 1,500 AB00
MBlEY X4 £ 2X 1,000
401 AIEHIZ 20| 915,000 1,000,000 85,000
01 Al&HI 915,000 1,000,000 /85,000
AXILE AIBIEOIAIAE &5 2 AH| 915,000
SNESSX(AE) 81,241 400,000 A 318,759
2 47,741




SN FEAYD
M AN 25 U MRS AHIA SO (SEMYSA/AY - AE)
Sel: BEHO AR U MEEY 4 (e @
_ _ MNuE o
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot Hws2
A 33,500
401 AlAHIL 2 O] 81,241 400,000 ~318,759
= 47,741
Al 33,500
01 Al&| 81,241 400,000 £318,759
Su2 HEl At 81,241
=2 47,741
Al 33,500
SH2EBE(X) 406,175 1,811,871 A1,405,696
= 238,675
Al 167,500
403 XHXISHAIS XH2 0 H 406,175 1,811,871 A1,405,696
= 238,675
Al 167,500
01 MXSAX2LSE 406,175 1,811,871 A1,405,696
SH2 FH A 406,175
= 238,675
Al 167,500
NYBYAL EH 29,420 657,960 628,540
201 Ygr2g| 23,920 31,960 8,040
01 AtR2elt| 23,920 11,960 11,960
H2UH+2H X4 USRS =
70,0008 %148 x23] 1,960
NEAY TH N2AAE ~g
70,0002 142 x23] 1,960
NPT LB BE A O MR RIE 20,000
202 04t 5,500 6,000 A500
01 2Uioibl 2,000 2,000 0
MNESUAL T4 WO 2,000
04 =501t 3,500 0 3,500
HE %2 T4 oYl MO 3,500
Ng+29 U 942y Z4(NF) 10,500,000 2,700,000 7,800,000
=l 3,000,000
Al 1,500,000
X 6,000,000
401 AEHI2L S0 10,500,000 2,700,000 7,800,000
=l 3,000,000
Al 1,500,000
X 6,000,000
01 Al&H] 10,150,000 2,700,000 7,450,000
W22 T4 ALY 5,650,000
=l 3,000,000
X 2,650,000
Hete=e T4 2X LAy 3,500,000
Al 150,000




SA: ZEAD
M MEXE 5 U M2 AHA SH(SEHSLA/AY - AHE)
ool el dyBel ¥ MEEY X4 CERCE
_ _ SIEN
SN EB -GS - MBAY - BES 0 & 24 e HRE2
T 3,350,000
SMEEE2E THTA(WRAS) 1,000,000
02 22l 300,000 0 300,000
HeHase =8 2l 300,000
03 Al& S0 50,000 0 50,000
Wete2e T8 ALY 50,000
N SA%= Z8(2E) 200,000 200,000 0
z 100,000
Al 100,000
401 AlEHIL 2] 200,000 200,000 0
2 100,000
Al 100,000
01 A& 200,000 200,000 0
T SAZE Z4 200,000
2 100,000
Al 100,000
N SAZ= Z8(X2) 9,800,000 8,800,000 1,000,000
= 4,900,000
Al 4,900,000
403 THXISHHS K20 H 9,800,000 8,800,000 1,000,000
2 4,900,000
Al 4,900,000
01 UXISHAN LS 9,800,000 8,800,000 1,000,000
T SAZ Z4 9,800,000
2 4,900,000
Al 4,900,000
NPT ERESEIONED 260,000 0 260,000
2 200,000
Al 60,000
403 THXI S S K20 H 260,000 0 260,000
= 200,000
Al 60,000
01 UXISHANZLE 260,000 0 260,000
Tt MEf s T4 260,000
2 200,000
Al 60,000
NYMEOSLESE(XE) 325,000 325,000 0
= 250,000
Al 75,000
403 KHXIGHHSXHR O H 325,000 325,000 0
= 250,000
Al 75,000
01 UXISHANZLE 325,000 325,000 0
OlDI & XHAAIZ R X4 325,000
= 250,000

_11_




2N ZEAYD
HH: MR 25 U ARSS MHIA S (SEHALA/AY - AE
ool SEX0 sMzBel U NYRY X4 (erel: @2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &t @ﬂOH Hlw &2
| Al 75,000
stnE X4 270,000 225,000 45,000
= 180,000
Al 90,000
403 XHXISHHISH2 0l & 270,000 225,000 45,000
= 180,000
Al 90,000
01 RXSHIZEE 270,000 225,000 45,000
stz X4 270,000
= 180,000
Al 90,000
=4 T2 X2 AHYS 600,000 410,000 190,000
= 600,000
401 N&HIL 2] 600,000 410,000 190,000
= 600,000
01 Al 600,000 410,000 190,000
=M ST BAEL ALY 600,000
= 600,000
sy T4 400,000 36,000 364,000
= 200,000
Al 200,000
401 NEHIL 2] 400,000 36,000 364,000
= 200,000
Al 200,000
01 Al&Hl 400,000 36,000 364,000
ISESIE S 400,000
= 200,000
Al 200,000
HEZW gax =2 283, 125 0 283,125
= 198,125
Al 85,000
401 NEHIL 2] 283,125 0 283,125
= 198,125
Al 85,000
01 Al&Hl 283, 125 0 283,125
S Fex =9 283, 125
= 198, 125
Al 85,000
HUNE 08B 35,337 0 35,337
= 27,182
Al 8,155
403 XHXISHHIS AH2 0l & 35,337 0 35,337
= 27,182
Al 8,155
01 RXESHIZEE 35,337 0 35,337
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